EARAROBEEIERT — 2 N— IBISH —F

20135108108 (k) 14EIEMH5H

m C3=Z ¥5%3m%t ‘ [R&] B ‘ [ekmsml  — | & (B) 14000 &
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R R .30, 44— . — XiBEE (EMA)
1 3| FUSTEREF o4 R 1(3_2)9 4-4-4-3 | 40.2 6 (4_328) s
L:AR)IFNIT7—/ BEF¥FFLIZFEF TEHS
# o4 | JIRE— 1:32.9 2-2-2-2 | 40.3| — 2 460 | HEEREMER (FEH)
2pa2|HH 56.0 75%) (50) | BBES
R:84LIST Ry X B:IXRTL Y RIL 77y NS
— s 3 | |AML 1:33.2 1-1-1-1 | 40.8| — 4 458 | EBAIEZ (EH)
3|8[10 T =EATL— 54.0 (1172) o | B sE=K-71-y-7
L:TZRA78— B:IRT—-ZA Wt FFIZ &y K
N Kht—E . 7 f— = ImiksE (FakR)
al1lq|Fvya-—a7aq 5 2 ()3:;)2 7-7-6-6 | 40.1 1 (5;2) LEsE
R:Er/0704 B:UN7T LIS
. LFFE5A :33. —6-7- . — FEP (Fh)
sl7lg| v rrvuT IR - I ° (4159) HLBH
RN=YTTA BU LAY fhiE  EEL
S =S, N B :33. -9-9- . — BEFIR (EH)
6 g | 1>7>2a> SR }73?:;5 $999 1400 ! ?f; )
L:yrh—>r BN—RFTNUZ 79957 T— L4
B 5 N 4 5 | FRERE 1:33.7 8-8-8-8 |40.2| — 5 437 | WoTiEE (FEh)
7|55 72 —F X 54.0 (3/4) Ge) | ) 77-xbhEVa
LTRIA YT v BihFS (-2 W $%F
ST # 3 | BEEE 1:33. 2-2-5-5 | 41.1| — 9 442 | WWAFDZ (EH)
glglg|FINA—-—K=-I 56.0 (2 E) (-p) |EERX
RINYTLR—Y BAATFRTL GSARL—ZFthrs—
S xRS 4 3 | KERRKX 1:34.1 5-5-3-4 | 41.3| — 8 443 | WiAxFZ (EB)
EE 6| 7Y *—-KZdJ> 56.0 2 1/2) 2) EERER
Z:vna7x B4 7a-d- SN e
#H 5 | ALRE 1:34.4 10-10-10-10{ 39.9 | — 10 | 463 |FipE (EME)
1007 7 YAy O 56.0 (1 1/2) (-1) THRES
L:b—>NFy K B:wX ko Ky =S
® 1—F—@EBIERL
13—4+— 10,(2,9),3,6,8,1,5,4,7
20—F— 10, (2,9),3,6,8,1,5,4,7
Jol=5r= 10,2,6,3,9,1,8,5,4,7
43—+ — 10,2,3,6,9,1,8,5,4,7
[ /N
B 3 2,590M 714K 2-3 2,420 B 2-3 7,530 JEE 2-3-10 17,510H
B B 3 610M 3-10 3,840 B = 2=3 10,480 JEE 3-2-10 362,220
2 180H4 2-10 680 B H 3-2 16,300
10 170

ABICOVWTRDTEEERROODE. TR LIV,




